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Effects of Pollination and Fruit-thinning Time on the Fruits
of Aborted-seeded Longan
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Abstract

The fruit setting and embryo abortion rate of aborted seeded Longan cultivar “Min Jiao 64-
1”and"™ Min Jiao 64-2" were studied by using different pollination methods, different

fruit thinning time and measuring pollen germination rate. The results showed that most of
the pollen of aborted seeded cultivar were aborted, which germination rate was lower than
cultivars with normal embryos. Aborted-seeded longan didn't have parthenocarpy ability.
Cross-pollination was necessary for the fruit setting of aborted seeded longan. In the
periods of "Binli”"and “Guangongdaoli”, fruit-thinning had the advantages to raising seed-
abortion rate.
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